Barn Door Hardware Installation

Parts Included:

M10*25(X2)

M8(X1) M8(X4)

(x1) ) C ) C @< <
M10*25(X2) M8*25(x2) M10(X2) |V|10(X4)

D Gor | qummmd)| @D ©)

= M8*50(x2) M8*60 (x1) M8*30 (x2 ) M8(X1)

Wood Screw Installation

Masonry Wall installation

Wood Screw Installation

he

I—

i ] 1.6”

<Y

I—~

HBD5921_lInstructions

Customer Service 1-800-221-3379




